
KSFX 82E

3237822  Ed. 0  01-2015



KSFX 82E

- 1 -

16
17

41

45

19

20

3044070

21

13

1

11

14

1

3
5

7

7

8  9

25
26

2

12
3224

15

41

36

37

18

4
4

15

15

15

3237822

 4

6

42

43

46



KSFX 82E

- 2 -

TUBO 
SUPPORTO 
SCATOLA  
TUBO L=20cm
TRAVERSA
TUBO INOX
RACCORDO 
PARATIA SX 
TRAVERSA SX 
PARATIA 
PARATIA 
PARATIA DX 
TRAVERSA DX 
PIEDE (h.150mm)
FASCETTA
VITE (m8x35)
ROSETTA
VITE (m5x12)
VITE (m4,2x13)
ETICHETTA ADESIVA
SCAT. ASPIR.  
PROT. ASPIR.  
TETTOIA 
PARATIA
GUARNIZIONE TUBO 
ISOLANTE
ISOLANTE
TUBO INOX
VITE (m12x40)
ROSETTA GROWER
ROSETTA PIANA
VITE (M5x12)
ROSETTA PIANA

2
1
1
4
1
1
2
1
1
1
1
1
1
4
8
4
4
28
4
1
1
1
1
1
2
1
1
1
4
4
4
3
3

3238920
3204130
3181870
3126980
3220230
3238420
3214780
3204150
3214630
3204112
3204810
3204140
3204300
36C2970
3140200
31A0040
3122550
31E0020
31M7030
3044070
3214770
3214750
3214790
3204121
3215170
3113850
3220620
3238900 
3074810
3123670 
3120080
31A0380
3120070  

N.    DENOMINAZIONE    Q.tà COD.ARTICOLO
1
2
3
4
5
6
7
8
9
11
12
13
14
15
16
17
18
19
20
21
24
25
26
32
33
36
37
41
42
43
44
45
46

PIPE 
SUPPORT 
BOX (AISI) 
PIPE L=20cm
PROTECTION 
INOX PIPE
CONNECTOR
PROTECTION 
CROSSPIECE
PROTECTION 
PROTECTION 
PROTECTION 
CROSSPIECE 
FOOT (h.150mm)
HOSE CLAMP
SCREW (m8x35)
WASHER
SCREW (m5x12)
SCREW (m4,2x13)
LABEL
ASPIRATION BOX 
INLET PROTEC.
CANOPY 
PROTECTION 
GASKET PIPE
INSULATION
INSULATION
INOX PIPE
SCREW (m12x40)
WASHER GROWER
WASHER
SCREW (m5x12)
WASHER

GBIT

N.     DESCRIPTION         Q.ty       CODE

3237822

2
1
1
4
1
1
2
1
1
1
1
1
1
4
8
4
4
28
4
1
1
1
1
1
2
1
1
1
4
4
4
3
3

3238920
3204130
3181870
3126980
3220230
3238420
3214780
3204150
3214630
3204112
3204810
3204140
3204300
36C2970
3140200
31A0040
3122550
31E0020
31M7030
3044070
3214770
3214750
3214790
3204121
3215170
3113850
3220620
3238900 
3074810
3123670 
3120080
31A0380
3120070  

1
2
3
4
5
6
7
8
9
11
12
13
14
15
16
17
18
19
20
21
24
25
26
32
33
36
37
41
42
43
44
45
46



KSFX 82E

- 3 - 3237822

1 2

3 4

5 6

SX

DX

8

8

8

8

8

8

8

8

IMPORTANT: FOR OVEN FX82 E WITH STAND (FIG.1÷8) 

RIGHT

LEFT



KSFX 82E

- 4 - 3237822

7

13

15
8

15

9

A

B

10

8

14

17

18

12

13
17

18

13

17

18

13
17

18

IMPORTANT: FOR ALL OVEN FX82 E  “T”  AND WITH STAND

11



KSFX 82E

3237822- 5 -

18

16

4

37

13

7

7

14

7

7

15

6

16

16

17

5

5

9

1443

44

14

43

44



KSFX 82E

- 6 - 3237822

22

20

3

++ 41

20

12

19

ø3,25 mm

21

3

4
36

16



23 24

27 28

SX

DX

8

8

8

8

KSFX 82E

- 7 - 3237822

25 26

8

8

8

8

IMPORTANT: FOR OVEN FX82 G/E WITH STAND (FIG.23÷28) 

RIGHT

LEFT



29

30

KSFX 82E

- 8 - 3237822

IMPORTANT: FOR OVEN FX82 G/E T (fig.29-30)

IMPORTANT: ONLY FOR TOP OVEN FX82 G (FIG. 31-32)

31

8
8

32



KSFX 82E

- 9 - 3237822

33

36

37

34

35

8

8

38



- 10 -

KSFX 82E

3237822

42

43
13

17

18

13
17

18

44

13

17

18

39 40

41

FOR ALL TOP OVEN FX82: 



- 11 -

KSFX 82E

3237822

45

2

47

24

48
24

11

5049

19
19

8
19

19

19

46

16 16

16 16

4 4



KSFX 82E

- 12 - 3237822

52

25

19

19

53

19

25

19

51

11

8

19

54

SX

55

DX

56

1319

RIGHT

LEFT



60

19

19

32

KSFX 82E

- 13 - 3237822

57

13

19

19

19

26

58

59

19

26


